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Practice problems for Test 3 - Answers

No. Yes. No.

Yes. Yes. No. No.

qx) =2* — 2z, r(x) =Tr + 1
(a) d(z) = 2* + 42* + bz + 2
(b) a(z) =5, b(z) =2z +1

[z +4]7' =322+ 3z + 1

7. —2 and —4

8. over Z: 3 — 2 is irreducible

over QQ: still irreducible

over R: (a: — \3/§> (x2 + V2 + \3/Z_l>

over C: (x—%) <x+—w+§/§\/§l> (:U—l——\:ﬁ_;/ﬁ\/gl)

over Zs: (z+1)3

a3+ x+land 22+ 22+ 1
10.
11.

use p=>95
(a) (1,1), (1,3), (1,5), (1,7), (5,1), (5,3), (5,5), (5,7)
(b) (£1,%1,£1) (8 elements total)
(c) all elements of the form (a,b) where a # 0, b # 0



